EES (ks 4 BEE1 EEE Y4 bl o 141702107 — 37725 127

HEF= 2011/03/17 08:00 | TR : 92km x 92km

fET—3 = GPV-I-E:E;H‘HE (2011/03/17 08 00) i'@ : EREE = 120.00 m
S ., S G T _ : — YA bhiHEDQRE 0 B 14.8 m/s
e : 7 ASLEE : DE
HEETILE= PHYSIC
HEAYYaE KFEAHE= 2.00 km
[RL41]
10 m/s

0 8EEHIER 1 —25



AIFRE (IUFR)

HEF= 2011/03/17 08:00 - 2011/03/17 09:00
R(RT—4 = GPV+EHAME (2011/03/17 08:00) £T

(4 )

*E \
L 40-km. . N

BEH1

281F KK

iy §unpih=] 141702 08° = 37 25 18"
fAIs : 92km X 92km

KAEE = 1.00m

R OiK:1)] :

AP BEEZER Ba/m3)

1=5X10 1 e
2=1x10 711 ecccsces
3=5X10 12 emcomoem
4=1%10 12 emeemew-
565610,719 " . mwme——.

SEETIZ= PRWDA21

FERETING= BEETIN

[GtE&H]

AEAYatE KFEAE= 1.00 kn
MiE =120.0m

K BIERs%l  =2011/03/17 08:00
MEE— R=BENH
BedE - i ER (JE5) : Ba/h (Ba)
EDE S 1.0x10 0 (1.ox100)

0 SESTEHIER 1 — 28



= EEE1 28F LEiEBE ) s . 141°02'08” — 37°25°18”

EXRRIIRER

BEs= 2011/03/17 08:00 - 2011/03/17 09:00 BMEE =FHR $E st . 92km x 92km

ﬁ%-r—é = GPV+§§,EIIﬁE (2011/03/17 08: 00) i-c [FALB1]

> - s s—— : — Eﬁﬂ&ﬂlﬁﬁ&%{ﬁﬁ(u Gy/h)
*Eﬂn%-l:ﬁ ﬁ*ﬁfﬁ . 1=1.00x10 ~15

2=5.00x10 "16 emmeacan
3=1.00x10 ~16 cmoomce
4=5.00%10 ~17 ==eomea-

0 ki), f2)11F5 40 km.

5=1.00%10 e I S

BA@mER=1.6x10 194 6y/h
TS OERE 3.6 knthA (+ED)

HEETI/LE= PRWDA21
FRETILE= BEETIL
(GEEEIE
HEAYLaE KEAM= 1.00 km
WHE =120.0m '
 PREEE =20000 MWD/MTU
RFIFE1EEZ=2011/03/11 16:00
M BRIEREEZl  =2011/03/17 08:00
MHEE— F=BHEMH :
W ZTE - E (85 : Ba/h Bg)
#FH R :1.00x10 O (1.00x10 0)

WhEH

Lo 20 ke o O 20 km 0 BEEEHIER1—28



